toichiometry Review
L Part1 - Multiple Choice
1. This section will account for 20 points on the test and will be OPEN NOTES.
2. Have the following notes and quizzes organized, highlighted, and reviewed.

- Measuring Matter
- Empirical & Molecular Formulas
- Stoichiometry
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This section will account for 30 points on the test and will be CLOSED NOTES.

#1 - Number Of Atoms
1. Determine the number of Zn (zinc) atoms in 2.50 mol of Zn.
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#2 - Molar Mass

1. Calculate the molar mass of ethanol (C2HsOH).
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#3 - Mole-To-Grams

1. Whatis the mass of 3.25 mol of H2S04?
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#4 - Grams-To- M?o-ll:e?/f
1. Determine the number of moles present in 22.6 g of AgNOs.
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1. How much chlorine gas, in grams, is obtained fro the equatlon 2NaCl — 2 Na+Cly, if

2.50 mol of NaCl are used?
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2. How many moles of CS; and HzS are produced when 1.50 mol of Sg is used in the following
equation : 2CHas+ Sz —> 2CS; + 4H,S8?
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3. Determine the mass of Nz produced from the decomposition of 100 g of NaNj in the
equatlon 2NaN; —> 2Na +3N;. }
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#6 - Percent Composition Mg ]

1. Calculate the percent by mass of each element in sodium sulfate (NazS04).
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#7 - Empirical / Molecular Formulas
1. Determine the empirical formula for aspirin, which is 60.0% carbon, 4.44% hydrogen,

and 35.56% oxygen. (assu—-e (00
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2. A compound was found to contain 49.98 g of carbon and 10.47 g of hydrogen. The molar
mass of the compound is 58.12 g/mol. Determine the molecular formula.
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